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Overlapping Triangles - Worksheet B

Write a flow proof for each problem.

1. D — C Given: AC. AF =EC, /3= 14, 21 = 12,
< prove: NABE = ACDF.

‘A B

oy m;g,f* 27@;4)54/ ;329%"’ B

328 45 Lotoon i @) gasupss

__(94[ ‘:z};a 04%

L G)AABE =4 COF

O )eé Srath /f”f”” oo @ - Sé%ﬂé%%/&{f s L/j@ A5 = AS A
O fantas i e ﬁ G .

(’) 6”/%‘/ Cﬁb Y L A éi:,;! 24 \,f, P

T
2. Given: TR = TS, MR = N3,
M N Prove: ARTN ASTM
. T
R
S / \
() Te =TS W:} TR=TS oo n NS
= ,z;) “[M-f/l/[/?‘; :
"i,«

TR ;HWQ
DT =TH+ NS

O MRS AS

J%i;y y g it s Cﬁ s !,/f‘f’ At .

® fegmet izo/a N @5 s s s

f i5 3 7 Dof =5 (DRl

B) g 41 © subtadlic Bl 0 s
() G

@ /bl/f f‘fﬁfg -



3 Given: LM, CB = DA, £2 = L1.
) Prove: AABC = ABAD. -
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Given: /ﬁ?@ LA = LB,@
Prove: AAEC = ABDC —
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